EQUATION OF A LINE Lesson 3

DETERMINE INTECEPT, RATE OF CHANGE, EQUATION OF A LINE
Guided Practice
1.    
	Input
	Output

	2
	5

	3
	7

	4
	9

	5
	11

	
	




What is the INTERCEPT?________________________________
What is the RATE OF CHANGE?___________________________
What is the EQUATION OF THE LINE?_______________________

2.  A rental car company charges a fee of $30 and $10 a day.  How much will it cost to rent a car

What is the INTERCEPT?_________________________________
What is the RATE OF CHANGE?___________________________
What is the EQUATION OF THE LINE?______________________



3.  (3,9) (4, 12) (6, 18) (X, Y) 
What is the INTERCEPT?_________________________________
What is the RATE OF CHANGE?___________________________
What is the EQUATION OF THE LINE?______________________

4.   Creating a line from points (-4,5) and (-2 5)   only
What is the INTERCEPT?_________________________________
What is the RATE OF CHANGE?___________________________
What is the EQUATION OF THE LINE?______________________






5.  Creating a line from a Graph

What is the INTERCEPT?_________________________________
What is the RATE OF CHANGE?___________________________
What is the EQUATION OF THE LINE?______________________
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1. Which situation below matches the equation 3. Which equation below could be used to describe
y=24x the total number of inches (y) in any number of
(1) The total number of cases (), for any yards (x)2

number of soda cans (x) packed 24 to a box 1) y= wxM
(2) ]_,\:m total :_,::Um_‘ of cans 3.. soda (y), @) y=36%
packed 24 cans to a carton, in any number
of cartons (x) (3) y=36x
(3) The total number of months (x) in any (4) y=36+x
number of years (y)
i G =

(4) The total gas used by a car that travels 24 4
miles

(5) The total number of $24 shirts (x) that k&
could be bought with y dollars ]

2. Which graph below could represent the equation 1
y=10x2 {

A B.) { i )

0 S| e
C D.Y
0 X 2
(1) Graph A
(2) GraphB
(3) GraphC
(4) Graph D
(5) None of the above a v
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Questions 4 and 5 refer to the information below:

The rule of thumb sometimes used to estimate
temperatures when converting from Celsius to
Fahrenheit degrees is “double the Celsius

0%

temperature, and add 30°

4, Which table below follows the rule stated above?

A.

Celsius Fahrenheit
19 60
32 94
50 130
B. -
Celsius Fahrenheit
60 15
94 32
130 50
C. . -
Celsius Fahrenheit
15 45
32 64
50 80
D. = 2
Celsius Fahrenheit
15 0
32 34
50 70
(1) Table A
(2) Table B
(3) Table C
(4) Table D

(5) None of the above
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Which equation represents the rule as stated

above?

(1) F=2(C+30)
(2) F=2C+30
(3) C=2(F+30)
(4) C=2F+30
5) F=< +30

2
A more exact formula for changing from Celsius

to Fahrenheit degrees is F = 1.8C + 32. What
would the Fahrenheit equivalent of 10°C be?

wa
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